- The exterior angle of a triangle is always equal to the sum of the opposite

inferior angles.

Ms' Example 1: Examine the figures below. Find the measure of the missing angle. g0

1) Sum £'s in triangle = 180 - 62—*‘60;‘5?1) 4 X —jD |

°o
2)x=__ 20 2) sy = __L3_0_ 7=_J40°
3) Sum of interior angles opposlle ofangle X" 3) Sum of interior angles opposite of angle “y” _‘40+?0' Iw
Sum of interior angles opposite of angle "z" = 90@ Hl’ ‘
B |
|
|

Example 2: Find the measure of £x and &y.

Step 1: Use the rule for exterior angles to write equation.

120° =4 A+ 4B
120° =75°+x : ;
4508 =5%

Step 2: The sum of the interior angles of a triangle equals 180°, and £ BCA suppléments £BCD, so either equation:

SUM of INTERIOR ANGLES SUPPLEMENTAL ANGLES
1800 =759+ 45°+y ; 180° =120° + 4y
1800 =750 4450 +y 60° =y

1800 =120° +y
60° = y
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N ) Part1:Find the measure of the missing angle measures. Show an equation for each angle.
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W= 9)+47
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